B.A./B.Sc. (Part-I) EXAMINATION, 2018

(Common for the Faculties of Arts and Science)
[Also Common with Subsidiary Paper of B.A. (Hons.) Part-1

Three-Year Scheme of 10+2+3 Pattern]
ECONOMICS-I
(Micro Economic Theory)
_Time : Three Hours Maximum marks : 100 for Arts
75 for Science
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Part-A ( {-37)
1. Answer of Question Number 1 (i) to (x) shguld not exceed 20 words :
¥ @& 1 (1) § (x) 1 SW 20 TR § 37k &l F1 =My :
10x2=20 (Arts) / 10x1%=15(Sci.)
(i) What do you mean by Dynamic analysis ?
YT oo | 39 39 993 T 7
(i) What is ‘Gossen’s First Law’ ?
e = e e R ?
(iti) Explain substitution effects.
g Y9TE hl THART |
(iv) Write Arc Method of price elasticity of demand.
{1 1 Ha g w9y &y fafau
(v) Define Marginal rate of technical substitution.
FFAte! wfeeargs =1 Hm ) i IRt S
(vi) What do you mean by ‘Pecuniary Economics’ ?
‘i-Tgal’ W 19 7 9E9Ad § 7
(vii) What do you mean by reserve capacity ?
STRFeTa &rFaT § 319 o 9HEd © ?
(viii) Define Marginal Firm.
= FH skl 9itartag e |
(ix) Write any two ways for Regulation of Monopoly.
¥ P % FE 9 SUE JAEU)
(x) What do you mean by exploitation of labour ?
g9 F WY § Y 1 9 € 2
Part-B ( W7T-9 )
2. Answer of Question Number 2 (i) to (v) should not exceed 100 words
U FE& 2 (i) § (v) 1 IW 100 UK 9 3714 781 g1 918y
5x4=20(Arts) / 5x3=15(Sci.)



() Explainlaw of diminishing marginal utility.
T ST B Fem @ TR

(i) Prove that: e, = ?Aﬁ‘aiR—MR
faswife & : e, = 'AR;{RMRT

(iii) Show the relevant sector, irrelevant sector and ridge lines of
Iso-product curves in a diagram.

T @it # gHieats 9561 & Tfe &3, oTareiie 8 ot a0
sttt yRfia S|

(iv) With the help of diagram explain the relationship between short-

run average cost and marginal cost. -
SIFT T EH T § 9 ST S S S
Tt & Ter 9 ey |
(v) Explain Risk theory of profit.
o % Sifen faer = gwgE)
Part-C ( HITT-9)
Section-A { ©@US-31)

. With the help of suitable example and diagrams, explain the law of
equimarginal utility. What are the difficulties of its application in
real life ? 15+5=20(Arts) /12+3=15(Sci.)
SUGE SR 1 {@IEl Wt TerEd | WS Suafi free @t

v Fif | arafas Stae § 50 Frem % anen # wa wfeea € 2

Oor
Explain the meaning of price elasticity of demand. What are the
different methods of measuring elasticity of demand ? _
T 3 FAG T 7 o1 GHEEA | | " B AT -
ot fafemi € 2 . 5+15=20(Arts) / 3+12=15(Sci.)
. Section-B (E@US-9)

. What is law of variable proportion ? How does it apply ?

Rad=vie S o P o § 298 ar el T ?

15+5=20(Arts) / 1243=15(Sci.)

Or ) .

Explain with diagrams the equilibrium of a firm in short-run’and

long-run under conditions of perfect competiion.

¥ saTia SICIHIT TS Sewel | L@a s werd |
T HH F HIeH B cuisa | 10+10=20(Arts) / 7V2+TV2=15(Sci.)
Section-C ( @UE-9)

Critically examine the marginal productivity [ﬂé%f dstrbudion
SIS B

ferrcer 3 T SeRa FagT @ o . Ff |
| o © 20(Arts) / 15(Sci.)
g?gi;nsi%% If?llowings : 10+10=2_0§Ans) | Ta+7=15(Sci.)
= T - (ii) Classicial theory of Interest
(1) STT9H e
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